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#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
1 NS: 2Rk SR EEH0) -15 1 3 NS: 5122 BAttt4(BAC) -6 VP:| 717 12.83 | Total VP: 169.96 Rank:
EW: s8{_5F #E3RE0) 6 EW: 255 3B{#1%(BA0) 19 IMP:| 11 19 4
_ __ -
# 21 » 87 4SW5 -450 Mean: 6SW-1 50 100 1 [|# 22 & KT942 3SN-2 -100 Mean: 4HW-1 100 50 1
v A864 4SW5 -450 -410  4SW5 450 1.0 M v K6 2SN-1-50 -70  2SN2 10 50 1
¢ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: -50 NS:-1 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: -2 EW:-1 2SN-1 50 1.0 2
4 KQ952 » AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_— v AT8 3SN-3 450 20 1
*J | ¢ 82 * KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢veN ,T6 VSN LAT3 2HWA4 470 30 1
N ~1~~~ ¢953 N ~1~1~ vJ52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW6 -680 Mean: 6SW-1 100 130 1 ||# 24 » Q4 3NE4 -430 Mean: 3NW-3 150 80 1
v 976432 4SW6 -680 -710  4SW5 650 2.0 7 v 9842 3NW-3150 -190 5DW-2 00 70 1
¢ J542 Dif: 0 NS:1 3NE5 660 2.0 1 ¢ 98 Dif: -580 NS:-6 3NW-2 100 70 4
a2 IMP: 0 EW:-1 4SW6 680 1.0 2 » J7532 IMP: -11 EW:-8 3NW3 400 50 1
» AK873 4 J94 5HXN-3  -800 -3.0 1 ||aJ2 4 AT75 3NE3 400 50 2
v + v K85 6CE6 4370 120 2 ||e JT53 v KQ7 3NW4 430 60 1
* Q97 + K6 + AKQT2 * J764 3NE4 430  -6.0 4
& KQ543 S & AJ976 & 8 & K9
®P¢VEeN ,652 P¢VESN , K863
N ~~~~~ o AQJT N 3~~~~ ¢ A6
S ~~~~~ 4AT83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 6SE-1 100 140 4 ||# 26 » 52 3CS-1-100 Mean: 3SW-2 200 7.0 1
v J7 6SE6 -1430 -830  4SE6 680 40 1 v AKQ9 2SW2-110 70  1NS2 120 50 1
+ KT64 Dif: 0 NS:-12 3NW6 690 40 1 + K65 Dif: 10 NS:-1  3CS-1 100 -1.0 8
» K73 IMP: 0 EW:12 3NE6 690 40 1 a J972 IMP: 0 EW:1 2SW2 4110 1.0 3
46 4 AKQJT53 6SE6 1430 120 7 ||s AKQ986 s J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®IVeN o4 ®eVeN L T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJ7
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 5HXE-2 300 Mean: 5CXN5 550 10.0 3 ||# 28 a A9 3NS4 630 Mean: 4SXS5 990 10.0 1
vd 3HE3-140 120  4CXN5 610 100 1 T 3NS4 630 540 3NS5 660 3.0 1
¢ 65 Dif: 440 NS:5 5HXE-2 300 50 1 + QJ974 Dif: 0 NS:3 3NS4 630 3.0 7
» J987632 IMP: 10 EW:6 4CN5 150 1.0 1 & AQT76 IMP: 0 EW:-3 4SS4 620 20 2
» K8762 494 4HE-1 50 20 3 ||a J742 T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||w 95 | v KQ86432 6SS-1 100 -120 1
* J82 + KQT4 1NN-2 100 -60 1 ||e K863 ¢ A 5SN-2 200 -120 1
a4 & KT 4HXE4 590 120 1 ||a J92 & 854
®evVeN L JT3 ®+veN L KQ653
N 5~~~2 9JT2 N 55~44 ¢AJ7
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN5 650 Mean: 5HN5 650 30 1 # 30 & T93 4SS-1 -50 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 620 540  4HN5 650 30 2 v A97 3SS4170 210  4SS4 420 50 5
¢+ J5 Dif: 30 NS:3 4HN4 620 20 9 + KQ96 Dif: -220 NS:-6 3NN3 400 50 1
» AB65 IMP: 1 EW:-2 2NS4 180 -8.0 1 » K63 IMP: -6 EW:1 3SS4 170 1.0 2
4 AT74 N 4 J85 5HN-1 100 120 1 ||a AJ7 s 82 488-1 50 -6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 ¢ JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®+veN ,KQ63 ®+veN L, KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W ~~~~~ W ~~~~~




v 4 —_—
15 114 F<F >RFEEHEF L = == RI5 15
#1: 13 JR1R(214.45) #2: 12 FLA(183 13) #3:7 Cyclops(174.99)
2 NS: HEZE KEJHGHO) -9 10 NS: % EE sRE#(BAC) -3q VP:| 16.39 : 3.61 Total VP: 124.15 Rank:
EW: £25 % H#fER(EIC) 30 EW: BRiEF5 S (FH0) 9 IMP:| 38 16 12
I - N
# 21 » 87 4SW5 -450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 2HW3 -140 Mean: 4HW-1 100 50 1
v A864 4SWS5 -450 -410  4SW5 450 1.0 11 v K6 2HW3 -140 70  2SN2 110 50 1
¢ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 » AJB2 Dif: 0 NS:-2 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 & T3 IMP: 0 EW:2 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_ v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢VeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 3NE5 -660 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 5DW-2 100 Mean: 3NW-3 150 80 1
v 976432 5HXN-3 -800 -710  4SW5 650 20 7 v 9842 3NE4 -430 -190 5DW-2 100 70 1
¢ J542 Dif: 140 NS:2 3NE5 660 20 1 ¢ 98 Dif: 530 NS:7 3NW-2 100 70 4
a»2 IMP: 4 EW:3 4Swé -680 1.0 2 & J7532 IMP: 11 EW:6 3NW3 -400 -5.0 1
& AK873 a J94 5HXN-3  -800 -3.0 1 [|a J2 & AT75 3NE3 400 50 2
v + v K85 6CE6 1370 120 2 ||v JT53 v KQ7 3NW4 430 60 1
+ Q97 + K6 + AKQT2 ¢ J764 3NE4 430 -60 4
& KQ543 S & AJ976 &8 & K9
®eveN o652 ®+veN L KO863
N ~~~~~ ¢ AQJT N 3~~~~ vA6
S ~~~~~ 4AT83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 6SE-1 100 14.0 4 ||# 26 » 52 3CS-1-100 Mean: 3SW-2 200 7.0 1
v J7 6SE6 -1430 -830  4SE6 680 40 1 v AKQ9 3CS-1-100 -70  1NS2 120 50 1
+ KT64 Dif: 0 NS:-12 3NW6 690 40 1 + K65 Dif: 0 NS:-1  3CS-1 100 -1.0 8
» K73 IMP: 0 EW:12 3NE6 690 40 1 a J972 IMP: 0 EW:1 2sw2 110 1.0 3
46 & AKQJT53 6SE6 1430 -12.0 7 ||s AKQ986 a J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®eveN o7 ®PIVEeN L T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJ7
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 4HXE4 -590 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 3NS4 630 Mean: 4SXS5 990 10.0 1
v4 5CXN5 550 120  4CXN5 610 100 1 oT 5SN-2-200 540 3NS5 660 3.0 1
¢ 65 Dif: -1140 NS:-12 5HXE-2 300 50 1 » QJ974 Dif: 830 NS:3 3NS4 630 3.0 7
» J987632 IMP: -15 EW:-10 4CN5 150 1.0 1 » AQT76 IMP: 13 EW:12 4SS4 620 20 2
# K8762 94 4HE-1 50 -20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||v 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 ¢ A 5SN-2 200 120 1
a4 & KT 4HXE4 590 -12.0 1 ||& J92 & 854
*eveN LJT3 ®+veN L KQ653
N 5~~~2 9JT2 N 55~44 ¢AJ7
S 5~~~2 ¢A973 S 55~44 4 T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 620 Mean: 5HN5 650 30 1 # 30 & T93 3NN3 400 Mean: 4SS5 450 6.0 1
v AQJ97 2NS4 180 540  4HN5 650 3.0 2 v A97 4SS4 420 210 4Ss4 420 50 5
¢ J5 Dif: 440 NS:2 4HN4 620 20 9 +» KQ96 Dif: 20 NS:5 3NN3 400 50 1
» A865 IMP: 10 EW:8 2NS4 180 8.0 1 » K63 IMP: -1 EW:-5 3SS4 170 1.0 2
» AT74 N # J85 5HN-1 100 120 1 ||a AJ7 » 82 48S-1 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
3 NS: -2 BEEGHO) -41 7 NS: E1IE BI5HE(BAC) -12 VP:| 3.03 16.97 | Total VP: 151.10 Rank:
EW: 8B 18 ZEBEEIC) 12 EW: ZBigEL =X F(BHO) 41 IMP:| 14 39 6
I . N
# 21 a 87 4SE5 -450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 4HW-1 100 Mean: 4HW-1 100 50 1
v A864 4SW5 -450 -410  4SW5 450 1.0 11 v K6 2HW4 -170 -70  2SN2 10 50 1
+ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: 270 NS:5 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: 7 EW:3 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_ v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢VeN ,T6 PIVEeN LAT3 2HW4 470 3.0 1
N ~1~~~ 9953 N ~1~1~ vJ52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 -650 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 3NW4 -430 Mean: 3NW-3 150 80 1
v 976432 4SW5 -650 -710  4SW5 650 20 7 v 9842 3NW-2 100 -190  5DW-2 100 70 1
¢ J542 Dif: 0 NS:2 3NE5 660 20 1 ¢ 98 Dif: -530 NS:-6 3NW-2 100 70 4
a2 IMP: 0 EW:-2 4SW6 680 1.0 2 a J7532 IMP: -11 EW:-7 3NW3 400 5.0 1
# AK873 s J94 5HXN-3  -800 -3.0 1 [|a J2 a4 AT75 3NE3 400 50 2
v + v K85 6CE6 <1370 -12.0 2 ||e JT53 v KQ7 3NW4 430 6.0 1
+ Q97 + K6 + AKQT2 ¢ J764 3NE4 430 60 4
& KQ543 S & AJ976 &8 & K9
POIVEN 4,652 P¢VESN , K863
N ~~~~~ o AQJT N 3~~~~ o A6
S ~~~~~ 4AT83 S 3~~~~ o653
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 6SE-1 100 14.0 4 ||# 26 » 52 3SW-2200 Mean: 3SW-2 200 70 1
v J7 6SE6 -1430 -830  4SE6 680 40 1 v AKQ9 2SW2 -110 -70  1NS2 1200 50 1
+ KT64 Dif: 0 NS:-12 3NW6 690 40 1 + K65 Dif: 310 NS:7 3CS-1 100 1.0 8
» K73 IMP: 0 EW:12 3NE6 690 40 1 » J972 IMP: 7 EW:1  2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 -12.0 7 ||s AKQ986 » J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®eveN o7 ®IvVeN ,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 1NN-2 -100 Mean: 5CXN5 550 10.0 3 ||# 28 a A9 6SS-1-100 Mean: 4SXS5 990  10.0 1
vd 4HE-150 120  4CXN5 610 10.0 1 T 3NS3 600 540 3NS5 660 3.0 1
4 65 Dif: -150 NS:-6 5HXE-2 300 50 1 +» QJ974 Dif: -700 NS:-12 3NS4 630 3.0 7
» J987632 IMP: -4 EW:2 4CN5 150 1.0 1 & AQT76 IMP: -12 EW:-2 4SS4 620 20 2
» K8762 94 4HE-1 50 -20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||v 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 120 1 ||a& J92 & 854
*eveN LJT3 ®eveN L KQ653
N 5~~~2 ¢JT2 N 55~44 ¢AJ
S 5~~~2 ¢A973 S 55~44 4 T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 »92 5HN-1 -100 Mean: 5HN5 650 3.0 1 ||# 30 » T93 4SS-1-50 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 620 540  4HN5 650 3.0 2 v A97 3NS-1-50 210 4S5S4 420 50 5
¢ J5 Dif: -720 NS:-12 4HN4 620 20 9 + KQ96 Dif: 0 NS:-6 3NN3 400 50 1
» A865 IMP: -12 EW:-2 2NS4 180 8.0 1 » K63 IMP: 0 EW:6 3SS4 170 1.0 2
» AT74 N 4 J85 5HN-1 100 120 1 ||a AJ7 » 82 4881 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
4 NS: fal B Z5EEEHO) 28 8 NS: W53 ERE(BAC) 43 VP:| 6.00 14.00 | Total VP: 139.06 Rank:
EW: PhER FRraEEAC) -43 EW: BSE Z53E(FHO) -2 IMP:| 0 12 8
I - N
# 21 a 87 4SW5 -450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 3SN-1-50 Mean: 4HW-1 100 50 1
v A864 4SW5 -450 -410  4SW5 450 1.0 11 v K6 2SN-1-50 -70  2SN2 10 50 1
¢ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: 0 NS:1  3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: 0 EW:-1 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_ v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢VeN ,T6 PIVEeN LAT3 2HW4 470 3.0 1
N ~1~~~ 9953 N ~1~1~ ¢J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 -650 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 3NE4 -430 Mean: 3NW-3 150 80 1
v 976432 4SW5 -650 -710  4SW5 650 20 7 v 9842 3NW-2 100 -190  5DW-2 100 70 1
¢ J542 Dif: 0 NS:2 3NE5 660 20 1 ¢ 98 Dif: -530 NS:-6 3NW-2 100 70 4
a2 IMP: 0 EW:-2 4SW6 680 1.0 2 a J7532 IMP: -11 EW:-7 3NW3 400 50 1
# AK873 s J94 5HXN-3  -800 -3.0 1 [|a J2 & AT75 3NE3 400 50 2
v + v K85 6CE6 <1370 -12.0 2 ||e JT53 v KQ7 3NW4 430 6.0 1
+ Q97 + K6 + AKQT2 « J764 3NE4 430 60 4
& KQ543 S & AJ976 &8 & K9
®eveN o652 ®+veN L KO863
N ~~~~~ vAQJT N 3~~~~ 9A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE-1 100 Mean: 6SE-1 100 14.0 4 ||# 26 » 52 3CS-1-100 Mean: 3SW-2 200 70 1
v J7 6SE-1100 -830 4SE6 680 40 1 v AKQ9 3CS-1-100 -70  1NS2 1200 50 1
+ KT64 Dif: 0 NS:14 3NW6 690 40 1 + K65 Dif: 0 NS:-1  3CS-1 100 1.0 8
» K73 IMP: 0 EW:-14 3NE6 690 40 1 » J972 IMP: 0 EW:1  2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 -12.0 7 ||s AKQ986 » J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®eveN o7 ®IvVeN ,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 5CXN5 550 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 4SS4 620 Mean: 4SXS5 990 10.0 1
vd 5CXN5 550 120  4CXN5 610 10.0 1 T 3NS4 630 540 3NS5 660 3.0 1
4 65 Dif: 0 NS:10 5HXE-2 300 50 1 +» QJ974 Dif: -10 NS:2 3NS4 630 30 7
» J987632 IMP: 0 EW:-10 4CN5 150 1.0 1 & AQT76 IMP: 0 EW:-3 4SS4 620 20 2
» K8762 94 4HE-1 50 -20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||v 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 120 1 ||a& J92 & 854
*eveN LJT3 ®eveN L KQ653
N 5~~~2 9JT2 N 55~44 ¢AJ
S 5~~~2 ¢A973 S 55~44 4752
E ~131~ &#AQ5 E ~~~~~ aK3
W~131~ W~~~~-~
# 29 » 92 4HN4 620 Mean: 5HN5 650 30 1 # 30 & T93 4SS4 420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 620 540  4HN5 650 3.0 2 v A97 4SS5450 210  4SS4 420 50 5
s J5 Dif: 0 NS:2 4HN4 620 20 9 + KQ96 Dif: -30 NS:5 3NN3 400 50 1
» A865 IMP: 0 EW:-2 2NS4 180 8.0 1 » K63 IMP: -1 EW:-6 3SS4 170 1.0 2
» AT74 N 4 J85 5HN-1 100 120 1 ||a AJ7 » 82 4881 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 ¢ KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
5 NS: B 15 8 #(5H0) 22 6 NS: 5288l FEZXF(BAC) 26 VP:| 9.61 10.39| Total VP: 129.48 Rank:
EW: $EIEAT BESF BR(HIC) -26 EW: &#% T8 (F10) IMP:| 27 28 11
_ __ -
# 21 » 87 4SW5 -450 Mean: 6SW-1 50 100 1 [|# 22 & KT942 3SN-3 -150 Mean: 4HW-1 100 50 1
v A864 4SW5 -450 -410  4SW5 450 1.0 11 v K6 3SN-1-50 -70  2SN2 10 50 1
+ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: -100 NS:-2 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 2.0 1 s T3 IMP: -3 EW:-1  2SN-1 50 1.0 2
4 KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QT2 v Q9743 — v AT8 3SN-3 450 20 1
*J | .82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 » A42 » KJ985 2HW3 140 20 2
*¢VeN ,T6 ®IVEON LAT3 2HW4 470 30 1
N ~1~~~ 9953 N ~1~1~ «J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 aQ54 E 3~3~1 aQ76
W 5~~51 W3~3~2
# 23 QT 4SW5 -650 Mean: 6SW-1 100 130 1 ||# 24 » Q4 3NE3 -400 Mean: 3NW-3 150 80 1
v 976432 6SW-1100 -710 4SW5 -650 2.0 7 v 9842 3NW3 -400 -190 5DW-2 100 7.0 1
o J542 Dif: -750 NS:2 3NE5 660 20 1 * 98 Dif: 0 NS:-5 3NW-2 100 70 4
a2 IMP: -13 EW:-13 4SW6 680 1.0 2 » J7532 IMP: 0 EW:5 3NW3 400 50 1
» AK873 s J94 5HXN-3  -800 -3.0 1 ||a J2 4 AT75 3NE3 400 50 2
v + v K85 6CE6 4370 120 2 ||w JT53 v KQ7 3NW4 430 60 1
+ Q97 * K6 + AKQT2 ¢ J764 3NE4 430 60 4
+» KQ543 S & AJI76 8 & K9
®P¢VEeN ,652 P¢VESN , K863
N ~~~~~ ¢ AQJT N 3~~~~ 9A6
S ~~~~~ ¢ATS83 S 3~~~~ 453
E 6~~55 4T8 E ~43~2 aAQT6
We6~~54 W~32~-~
# 25 4 9872 6SE-1 100 Mean: 6SE-1 100 140 4 ||# 26 » 52 3CS-1-100 Mean: 3SW-2 200 7.0 1
v J7 4SE6 -680 -830 4SE6 680 40 1 v AKQ9 2SW2 -110 -70  1NS2 120 50 1
+ KT64 Dif: 780 NS:14 3NW6 690 40 1 + K65 Dif: 10 NS:1  3CS-1 100 1.0 8
& K73 IMP: 13 EW:-4 3NE6 690 40 1 a J972 IMP: 0 EW:1 2SW2 4110 1.0 3
46 & AKQJT53 6SE6 1430 -120 7 ||a AKQ986 s J4 3NS-2 200 40 1
v AT986 v Q4 v 76 + v 8543
* AJ3 ¢ Q5 + QT84 ¢ 932
» QJT9 & A8 s K + QT83
®sveN o2 ®eVeN L T73
N ~~~~~ ¢K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJ7
E 4~566 46542 E ~1~1~ aA654
W 5~666 W-~1~1-~
#27 & AQ5 4HE-1 50 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 4SXS5990 Mean: 4SXS5 990 10.0 1
vid 4CXN5610 120  4CXN5 610 100 1 T 3NS4 630 540 3NS5 660 3.0 1
¢ 65 Dif: -560 NS:-2 5HXE2 300 50 1 + QJ974 Dif: 360 NS:10 3NS4 630 30 7
& J987632 IMP: -11 EW:-10 4CN5 150 1.0 1 & AQT76 IMP: 8 EW:-3 4SS4 620 20 2
# K8762 s 94 4HE-1 50 20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 6.0 3 ||w 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 ¢ A 5SN-2 200 -12.0 1
a4 & KT 4HXE4 590 -12.0 1 ||a& J92 & 854
®sveN LJT3 ®+veN ,KQ653
N 5~~~2 ¢JT2 N 55~44 ¢AJ7
S 5~~~2 4A973 S 55~44 4752
E ~131~ aAQ5 E ~~~~~ akK3
W~131~ W~~~~-~
# 29 » 92 4HN4 620 Mean: 5HN5 650 30 1 # 30 & T93 4SS4 420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN5 650 540  4HN5 650 3.0 2 v A97 3SS4170 210  4SS4 420 50 5
+J5 Dif: -30 NS:2 4HN4 620 20 9 + KQ96 Dif: 250 NS:5 3NN3 400 50 1
& A865 IMP: -1 EW:-3 2NS4 180 80 1 » K63 IMP: 6 EW:1 3SS4 170 1.0 2
s AT74 N 4 J85 5HN-1 4100 <120 1 [|a AJ7 s 82 4551 50 60 4
v KT2 v 86 v Q642 v T53 3NS-1 50 60 1
+ Q984 + ¢ T32 ¢ JT « A8732
*T7 *» QJ942 + QT97 & J52
®+veN LKQe3 ®+veN , KQ654
N ~~4~4 ¢543 N ~~~42 vKJs
S ~~4~4 ¢AK76 S ~~~42 454
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~-~ W~~~~-~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
6 NS: #9881 BB EAC) 26 5 NS: [Ri2: B E/(BAO) 22 VP:| 10.39 : 9.61 Total VP: 141.18 Rank:
EW: £&#k £ (1 0)-2 EW: FEIEF] BR<FR(BIC) -2 IMP:| 28 27 7
I - N
# 21 a 87 4SW5 450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 3SN-3 150 Mean: 4HW-1 100 50 1
v A864 4SW5 450 -410  4SW5 450 1.0 11 v K6 3SN-150 -70  2SN2 10 50 1
+ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: 100 NS:1  3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: 3 EW:2 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_ v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
PIVEON L,T6 PIVEN LAT3 2HW4 470 3.0 1
N ~1~~~ 9953 N ~1~1~ ¢J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 aQ54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 650 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 3NE3 400 Mean: 3NW-3 150 80 1
v 976432 6SW-1-100 -710 4SW5 -650 2.0 7 v 9842 3NW3 400 -190 5DW-2 100 7.0 1
¢ J542 Dif: 750 NS:13  3NE5 660 20 1 ¢ 98 Dif: 0 NS:-5 3NW-2 100 70 4
a»2 IMP: 13 EW:-2 4SWé6 -680 1.0 2 & J7532 IMP: 0 EW:5 3NW3 -400 -5.0 1
& AK873 s J94 5HXN-3  -800 -3.0 1 [|a J2 a4 AT75 3NE3 400 50 2
v + v K85 6CE6 <1370 -12.0 2 ||e JT53 v KQ7 3NW4 430 6.0 1
* Q97 + K6 + AKQT2 ¢ J764 3NE4 430 60 4
& KQ543 S & AJI76 &8 & K9
®eveN o652 ®+veN L KO863
N ~~~~~ ¢ AQJT N 3~~~~ oAb
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 aAQT6
W 6~~54 W ~32~-~
# 25 » 9872 6SE-1-100 Mean: 6SE-1 100 14.0 4 ||# 26 » 52 3CS-1100 Mean: 3SW-2 200 7.0 1
v J7 4SE6 680 -830 4SE6 680 40 1 v AKQ9 2SW2 110 -70  1NS2 1200 50 1
+ KT64 Dif: -780 NS:4 3NW6 690 40 1 + K65 Dif: -10 NS:-1  3CS-1 100 1.0 8
» K73 IMP: -13 EW:-14 3NE6 690 40 1 » J972 IMP: 0 EW:1 2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 -12.0 7 ||s AKQ986 » J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
+ AJ3 + Q5 + QT84 ¢ 932
& QJT9 & A8 & K » QT83
®eveN o7 ®IvVeN ,T73
N ~~~~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJ
E 4~566 6542 E ~1~1~ & A654
W 5~666 W~1~1-~
#27 & AQ5 4HE-1 -50 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 4SXS5-990 Mean: 4SXS5 990 10.0 1
v4 4CXN5-610 120  4CXN5 610 10.0 1 T 3NS4 -630 540 3NS5 660 3.0 1
4 65 Dif: 560 NS:10 5HXE-2 300 50 1 +» QJ974 Dif: -360 NS:3 3NS4 630 3.0 7
» J987632 IMP: 11 EW:2 4CN5 150 1.0 1 & AQT76 IMP: -8 EW:-10 4SS4 620 20 2
» K8762 94 4HE-1 50 -20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||v 95 | v KQ86432 6SS-1 100 120 1
+ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 120 1 ||a& J92 & 854
PIVEeN LJT3 ®¢VeEN , KQ653
N 5~~~2 ¢JT2 N 55~44 oAJ7
S 5~~~2 ¢A973 S 55~44 47T52
E ~131~ aAQ5 E ~~~~~ aK3
W~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 5HNS5 650 30 1 # 30 & T93 4SS4 -420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN5 -650 540  4HN5 650 30 2 v A97 3584 -170 210  4SS4 420 50 5
¢ J5 Dif: 30 NS:3 4HN4 620 20 9 + KQ96 Dif: -250 NS:-1  3NN3 400 50 1
» A865 IMP: 1 EW:-2 2NS4 180 8.0 1 » K63 IMP: -6 EW:-5 3SS4 170 1.0 2
s AT74 N 4 J85 5HN-1 100 120 1 ||a AJ7 » 82 48S-1 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 50  -6.0 1
+ Q984 + ¢ T32 o JT + A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 ¢vKJ8
S ~~4~4 ¢ AK76 S ~~~42 454
E ~~~~~ akK3 E ~~~~~ aA84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
7 NS: EiiE FEHEEIC) -12 3 NS: 8% 53 g (BA0) -4 VP:| 16.97 : 3.03 | Total VP: 174.99 Rank:
EW: SFgl =% EEH0) 41 EW: gl818 EBUR(BAC) 12 IMP:| 39 14 3
I . N
# 21 » 87 4SE5 450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 4HW-1 -100 Mean: 4HW-1 100 50 1
v A864 4SW5 450 -410  4SW5 450 1.0 11 v K6 2HW4 170 -70  2SN2 10 50 1
+ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: -270 NS:-3 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: -7 EW:-5 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_ v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢VeN ,T6 PIVEeN LAT3 2HW4 470 3.0 1
N ~1~~~ 9953 N ~1~1~ vJ52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 650 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 3NW4 430 Mean: 3NW-3 150 80 1
v 976432 4SW5 650 -710  4SW5 650 20 7 v 9842 3NW-2 -100 -190  5DW-2 100 70 1
¢ J542 Dif: 0 NS:2 3NE5 660 20 1 ¢ 98 Dif: 530 NS:7 3NW-2 100 70 4
a2 IMP: 0 EW:-2 4SW6 680 1.0 2 a J7532 IMP: 11 EW:6 3NW3 400 5.0 1
# AK873 s J94 5HXN-3  -800 -3.0 1 [|a J2 a4 AT75 3NE3 400 50 2
v + v K85 6CE6 <1370 -12.0 2 ||e JT53 v KQ7 3NW4 430 6.0 1
+ Q97 + K6 + AKQT2 ¢ J764 3NE4 430 60 4
& KQ543 S & AJ976 &8 & K9
POIVEN 4,652 P¢VESN , K863
N ~~~~~ o AQJT N 3~~~~ o A6
S ~~~~~ 4AT83 S 3~~~~ o653
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 1430 Mean: 6SE-1 100 14.0 4 ||# 26 » 52 3SW-2 -200 Mean: 3SW-2 200 70 1
v J7 6SE6 1430 -830  4SE6 680 40 1 v AKQ9 2SW2 110 -70  1NS2 1200 50 1
+ KT64 Dif: 0 NS:-12 3NW6 690 40 1 + K65 Dif: -310 NS:-1  3CS-1 100 1.0 8
» K73 IMP: 0 EW:12 3NE6 690 40 1 » J972 IMP: -7 EW:-7 2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 -12.0 7 ||s AKQ986 » J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®eveN o7 ®IvVeN ,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJ7
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 1NN-2 100 Mean: 5CXN5 550 10.0 3 ||# 28 a A9 6SS-1 100 Mean: 4SXS5 990 10.0 1
vd 4HE-1-50 120  4CXN5 610 10.0 1 T 3NS3 -600 540 3NS5 660 3.0 1
4 65 Dif: 150 NS:-2 5HXE-2 300 50 1 +» QJ974 Dif: 700 NS:2 3NS4 630 3.0 7
» J987632 IMP: 4 EW:6 4CN5 150 1.0 1 & AQT76 IMP: 12 EW:12 4SS4 620 20 2
» K8762 94 4HE-1 50 -20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||v 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 120 1 ||a& J92 & 854
*eveN LJT3 ®eveN L KQ653
N 5~~~2 ¢JT2 N 55~44 ¢AJ
S 5~~~ 2 ¢A973 S 55~44 4752
E ~131~ &#AQ5 E ~~~~~ aK3
W~131~ W~~~~-~
# 29 »92 5HN-1 100 Mean: 5HN5 650 3.0 1 ||# 30 » T93 4SS-150 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 -620 540  4HN5 650 3.0 2 v A97 3NS-150 210 4SS4 420 50 5
¢ J5 Dif: 720 NS:2 4HN4 620 20 9 + KQ96 Dif: 0 NS:-6 3NN3 400 50 1
» A865 IMP: 12 EW:12 2NS4 180 8.0 1 » K63 IMP: 0 EW:6 3SS4 170 1.0 2
s AT74 ] 4 J85 5HN-1 100 <120 1 ||a AJ7 » 82 4881 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
8 NS: #8531 T 528h(EHC) 43 4 NS: fil%5 Z=5{E(F0) 28 VP:| 14.00 : 6.00 | Total VP: 138.90 Rank:
EW: MR E=245EE0) -28 EW: MR H; 8H:E(FC) -4 IMP:| 12 : O 9
I - N
# 21 » 87 4SW5 450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 3SN-1 50 Mean: 4HW-1 100 50 1
v A864 4SW5 450 -410  4SW5 450 1.0 11 v K6 2SN-150 -70  2SN2 110 50 1
¢ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 » AJB2 Dif: 0 NS:1  3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: 0 EW:-1 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_ v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢VeN ,T6 PIVEeN LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 650 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 3NE4 430 Mean: 3NW-3 150 80 1
v 976432 4SW5 650 -710 4SW5 -650 2.0 7 v 9842 3NW-2 -100 -190 5DW-2 100 7.0 1
¢ J542 Dif: 0 NS:2 3NE5 660 20 1 ¢ 98 Dif: 530 NS:7 3NW-2 100 70 4
a»2 IMP: 0 EW:-2 4SWé6 -680 1.0 2 & J7532 IMP: 11 EW:6 3NW3 -400 -5.0 1
& AK873 a J94 5HXN-3  -800 -3.0 1 [|a J2 & AT75 3NE3 400 50 2
v + v K85 6CE6 <1370 -12.0 2 ||e JT53 v KQ7 3NW4 430 60 1
+ Q97 + K6 + AKQT2 ¢ J764 3NE4 430 -60 4
& KQ543 S & AJ976 &8 & K9
®eveN o652 ®+veN L KO863
N ~~~~~ ¢oAQJT N 3~~~~ 9A6
S ~~~~~ 4AT83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 aAQT6
W6~~54 W ~32~-~
# 25 » 9872 6SE-1-100 Mean: 6SE-1 100 14.0 4 ||# 26 » 52 3CS-1100 Mean: 3SW-2 200 7.0 1
v J7 6SE-1-100 -830 4SE6 680 40 1 v AKQ9 3CS-1100 -70  1NS2 120 50 1
+ KT64 Dif: 0 NS:14 3NW6 690 40 1 + K65 Dif: 0 NS:-1  3CS-1 100 -1.0 8
» K73 IMP: 0 EW:-14 3NE6 690 40 1 a J972 IMP: 0 EW:1 2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 -12.0 7 ||s AKQ986 a J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®eveN o7 ®IvVeN ,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 5CXN5 -550 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 4SS4 -620 Mean: 4SXS5 990 10.0 1
v4 5CXN5-550 120  4CXN5 610 100 1 oT 3NS4 -630 540 3NS5 660 3.0 1
¢ 65 Dif: 0 NS:10 5HXE-2 300 50 1 +» QJ974 Dif: 10 NS:3 3NS4 630 3.0 7
» J987632 IMP: 0 EW:-10 4CN5 150 1.0 1 & AQT76 IMP: 0 EW:-2 4SS4 620 20 2
# K8762 94 4HE-1 50 -20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||v 95 | v KQ86432 6SS-1 100 120 1
+ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 -12.0 1 ||& J92 & 854
*eveN LJT3 ®+veN L KQ653
N 5~~~2 ¢JT2 N 55~44 o AJ7
S 5~~~2 ¢A973 S 55~44 4 T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 5HNS5 650 30 1 # 30 & T93 4SS4 -420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 -620 540  4HN5 650 30 2 v A97 4SS5 -450 210  4SS4 420 50 5
¢ J5 Dif: 0 NS:2 4HN4 620 20 9 + KQ96 Dif: 30 NS:6 3NN3 400 50 1
» A865 IMP: 0 EW:-2 2NS4 180 8.0 1 » K63 IMP: 1 EW:-5 3SS4 170 1.0 2
s AT74 N 4 J85 5HN-1 100 120 1 ||a AJ7 » 82 48S-1 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 ¢ KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
9 NS: ¥iF$] sRRi&GH0) 10 11 NS: FHIEZE FiEsE5)(BIg VP:| 15.75 : 4.25 | Total VP: 132.95 Rank:
EW: Z83780 RIS (FAC) 5 EW: RHETF SHET(B] IMP:| 47 28 10
_ -
# 21 » 87 4SW6 -480 Mean: 6SW-1 50 100 1 [|# 22 & KT942 2SN2 110 Mean: 4HW-1 100 50 1
v A864 6SW-150 -410 4SW5 450 1.0 M v K6 3HW3 140 -70  2SN2 10 50 1
+ QT764 Dif: -530 NS:-2 4SE5 450 1.0 1 + AJ82 Dif: 250 NS:5 3SN-1 50 1.0 2
» 86 IMP: -11 EW:-10 4SW6 480 20 1 a T3 IMP: 6 EW:2 2SN-1 50 1.0 2
4 KQ952 » AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_— v AT8 3SN-3 450 20 1
*J | ¢ 82 * KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢veN ,T6 VSN LAT3 2HWA4 470 30 1
N ~1~~~ ¢953 N ~1~1~ vJ52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 -650 Mean: 6SW-1 100 130 1 ||# 24 » Q4 3NW-2100 Mean: 3NW-3 150 80 1
v 976432 6CE6 -1370 -710  4SW5 650 2.0 7 v 9842 3NE4 -430 -190 5DW-2 100 70 1
¢ J542 Dif: 720 NS:2 3NE5 660 2.0 1 ¢ 98 Dif: 530 NS:7 3NW-2 100 70 4
a2 IMP: 12 EW:12 4SW6 680 1.0 2 » J7532 IMP: 11 EW:6 3NW3 400 50 1
» AK873 » J94 5HXN-3  -800 -3.0 1 ||aJ2 a AT75 3NE3 400 50 2
v + v K85 6CE6 4370 120 2 ||e JT53 v KQ7 3NW4 430 60 1
* Q97 + K6 + AKQT2 * J764 3NE4 430  -6.0 4
& KQ543 S & AJ976 & 8 & K9
®P¢VEeN ,652 P¢VESN , K863
N ~~~~~ o AQJT N 3~~~~ ¢ A6
S ~~~~~ 4AT83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 6SE-1 100 140 4 ||# 26 » 52 1NS2 120 Mean: 3SW-2 200 7.0 1
v J7 6SE-1100 -830 4SE6 680 40 1 v AKQ9 3CS-1-100 -70  1NS2 120 50 1
+ KT64 Dif: -1530 NS:-12 3NW6 690 40 1 + K65 Dif: 220 NsS:5 3CS-1 100 -1.0 8
» K73 IMP: -17 EW:-14 3NE6 690 40 1 a J972 IMP: 6 EW:1 2SW2 410 1.0 3
46 4 AKQJT53 6SE6 1430 120 7 ||s AKQ986 s J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®IVeN o4 ®eVeN L T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJ7
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 3HE3 -140 Mean: 5CXN5 550 10.0 3 ||# 28 a A9 3NS5 660 Mean: 4SXS5 990 10.0 1
vd 3HE3 -140 120  4CXN5 610 100 1 T 4SS4 620 540 3NS5 660 3.0 1
¢ 65 Dif: 0 NS:-6 5HXE2 300 50 1 + QJ974 Dif: 40 NS:3 3NS4 630 3.0 7
» J987632 IMP: 0 EW:6 4CN5 150 1.0 1 & AQT76 IMP: 1 EW:-2 4SS4 620 20 2
» K8762 494 4HE-1 50 20 3 ||aJ742 T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||w 95 | v KQ86432 6SS-1 100 -120 1
* J82 + KQT4 1NN-2 100 60 1 ||e K863 ¢ A 5SN-2 200 -120 1
a4 & KT 4HXE4 590 120 1 ||a J92 & 854
®evVeN L JT3 ®+veN L KQ653
N 5~~~2 9JT2 N 55~44 ¢AJ7
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 5HN5 650 Mean: 5HNS 650 30 1 # 30 & T93 4SS4 420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 620 540  4HN5 650 30 2 v A97 4SS-1-50 210  4SS4 420 50 5
¢+ J5 Dif: 30 NS:3 4HN4 620 20 9 + KQ96 Dif: 470 NS:5 3NN3 400 50 1
» A865 IMP: 1 EW:-2 2NS4 180 -8.0 1 » K63 IMP: 10 EW:6 3SS4 170 1.0 2
4 AT74 N 4 J85 5HN-1 100 120 1 ||a AJ7 s 82 488-1 50 -6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 ¢ JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®+veN ,KQ63 ®+veN L, KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
1 O NS: FABHE BERAEC) -30 2 NS: EEZ RENE(BAO) -9 VP:| 3.61 16.39| Total VP: 115.29 Rank:
EW: B3 M8 E EH0) 9 EW: Z5iH MIER(BAC) 30 IMP:| 16 38 14
I - N
# 21 » 87 4SW5 450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 2HW3 140 Mean: 4HW-1 100 50 1
v A864 4SW5 450 -410 4SW5 450 1.0 11 v K6 2HW3 140 70  2SN2 10 50 1
¢ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: 0 NS:-2 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: 0 EW:2 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 » J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 _— v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 #» KJ985 2HW3 140 20 2
®¢VON ,T6 PIVEON AAT3 2HW4 470 3.0 1
N ~1~~~ 9953 N ~1~1~ ¢J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 3NE5 660 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 5DW-2 -100 Mean: 3NW-3 150 80 1
v 976432 5HXN-3 800 -710  4SW5 650 20 7 v 9842 3NE4 430 -190 5DW-2 100 70 1
¢ J542 Dif: -140 Ns:-3 3NE5 660 20 1 ¢ 98 Dif: -530 NS:-6 3NW-2 100 70 4
a»2 IMP: -4 EW:-2 4SWé6 -680 1.0 2 & J7532 IMP: -11 EW:-7 3NW3 -400 -5.0 1
# AK873 s J94 5HXN-3 800 -3.0 1 ||aJ2 & AT75 3NE3 400 50 2
v + v K85 6CE6 1370 120 2 || JT53 v KQ7 3NW4 430 6.0 1
+ Q97 + K6 + AKQT2 « J764 3NE4 430 60 4
& KQ543 S & AJI76 8 & K9
®IVON o652 ® eV eON L KOS63
N ~~~~~ ¢ AQJT N 3~~~~ vA6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 aAQT6
W 6~~54 W ~32~-~
# 25 » 9872 6SE6 1430 Mean: 6SE-1 100 140 4 ||# 26 » 52 3CS-1100 Mean: 3SW-2 200 70 1
v J7 6SE6 1430 -830  4SE6 680 40 1 v AKQ9 3CS-1100 -70  1NS2 1200 50 1
+ KT64 Dif: 0 NS:-12 3NW6 690 40 1 + K65 Dif: 0 NS:-1  3CS-1 100 1.0 8
» K73 IMP: 0 EW:12 3NE6 690 40 1 » J972 IMP: 0 EW:1 2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 120 7 ||s AKQ986 » J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 + QT84 ¢ 932
& QJT9 & A8 & K &« QT83
®IVEON o4 ®IvVeN ,T73
N ~~~~~ ¢K532 N 2~2~1 ¢JT2
S ~ ~~~~ 49872 S 2~2~1 ¢AJ7
E 4~566 &6542 E ~1~1~ aA654
W 5~666 W~1~1-~
#27 & AQ5 4HXE4 590 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 3NS4 -630 Mean: 4SXS5 990 10.0 1
vd 5CXN5-550 120  4CXN5 610 10.0 1 T 5SN-2200 540 3NS5 660 3.0 1
4 65 Dif: 1140 NS:10 5HXE-2 300 50 1 + QJ974 Dif: -830 NS:-12 3NS4 630 3.0 7
» J987632 IMP: 15 EW:12 4CN5 150 1.0 1 & AQT76 IMP: -13 EW:-3 4SS4 620 20 2
» K8762 s 94 4HE-1 50 20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 [|w 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 4100 60 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 120 1 ||a& J92 & 854
®IVeN LT3 ®+ve®N L KQ653
N 5~~~2 ¢JT2 N 55~44 ¢AJ7
S 5~~~2 ¢A973 S 55~44 ¢ T52
E ~131~ aAQ5 E ~~~~~ aK3
W~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 5HNS5 650 30 1 # 30 & T93 3NN3 -400 Mean: 4SS5 450 6.0 1
v AQJ97 2NS4 -180 540  4HN5 650 3.0 2 v A97 4SS4 -420 210  4SS4 420 50 5
¢ J5 Dif: -440 NS:-8 4HN4 620 20 9 + KQ96 Dif: 20 NS:5 3NN3 400 50 1
» AB65 IMP: -10 EW:-2 2NS4 180 8.0 1 » K63 IMP: 1 EW:-5 3SS4 170 1.0 2
& AT74 N » J85 5HN-1 100 120 1 ||a AJ7 » 82 4881 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 50  -6.0 1
+ Q984 + ¢ T32 o JT « A8732
& T7 & QJ942 & QT97 & J52
®*+veN LKQ63 ®+veN L, KQ654
N ~~4~4 9543 N ~~~42 ¢KJ8
S ~~ 4~ 4 4 AK76 S ~~~42 454
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
1 1 NS: SEHEE FEEEEE C) 9 NS: Bi5250 3RZKIZ(590) 10 VP:| 425 : 15.75| Total VP: 118.46 Rank:
EW: EHETF SFEFE 0) EW: 53750 #B¥3C(BAC) 5 IMP:| 28 47 13
_ -
# 21 » 87 4SW6 480 Mean: 6SW-1 50 100 1 [|# 22 & KT942 2SN2 -110 Mean: 4HW-1 100 50 1
v A864 6SW-1-50 -410 4SW5 450 1.0 M v K6 3HW3 140 -70  2SN2 10 50 1
+ QT764 Dif: 530 NS:10 4SE5 450 1.0 1 + AJ82 Dif: -250 NS:-2 3SN-1 50 1.0 2
286 IMP: 11 EW:2 4SW6 480 20 1 a T3 IMP: -6 EW:-5 2SN-1 50 1.0 2
4 KQ952 & AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_— v AT8 3SN-3 450 20 1
*J | ¢ 82 * KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢VON ,T6 VSN LAT3 2HW4 470 30 1
N ~1~~~ 9953 N ~1~1~ vJ52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 650 Mean: 6SW-1 100 130 1 ||# 24 » Q4 3NW-2-100 Mean: 3NW-3 150 80 1
v 976432 6CE6 1370 -710  4SW5 650 2.0 7 v 9842 3NE4 430 -190 5DW-2 100 70 1
¢ J542 Dif: -720 NS:-12 3NE5 660 2.0 1 ¢ 98 Dif: -530 NS:-6 3NW-2 100 70 4
a2 IMP: -12 EW:2 4SW6 680 1.0 2 » J7532 IMP: -11 EW:-7 3NW3 400 50 1
& AKS873 4 J94 5HXN-3  -800 -3.0 1 ||aJ2 4 AT75 3NE3 400 50 2
v + v K85 6CE6 4370 120 2 ||e JT53 v KQ7 3NW4 430 60 1
+ Q97 + K6 + AKQT2 * J764 3NE4 430  -6.0 4
& KQ543 S & AJ976 & 8 & K9
®P¢VEeN ,652 P¢VESN , K863
N ~~~~~ o AQJT N 3~~~~ ¢ A6
S ~~~~~ 4AT83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 1430 Mean: 6SE-1 100 140 4 ||# 26 » 52 INS2 -120 Mean: 3SW-2 200 7.0 1
v J7 6SE-1-100 -830 4SE6 680 40 1 v AKQ9 3CS-1100 -70  1INS2 120 50 1
+ KT64 Dif: 1530 NS:14 3NW6 690 40 1 + K65 Dif: -220 NS:-1  3CS-1 100 -1.0 8
» K73 IMP: 17 EW:12 3NE6 690 40 1 a J972 IMP: -6 EW:-5 2SW2 410 1.0 3
46 4 AKQJT53 6SE6 1430 120 7 ||s AKQ986 s J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®IVeN o4 ®IVeN L, T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJ7
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 3HE3 140 Mean: 5CXN5 550 10.0 3 ||# 28 a A9 3NS5 -660 Mean: 4SXS5 990 10.0 1
v4 3HE3140 120  4CXN5 610 100 1 T 4S5S4 -620 540 3NS5 660 3.0 1
¢ 65 Dif: 0 NS:-6 5HXE2 300 50 1 + QJ974 Dif: -40 NS:2 3NS4 630 3.0 7
» J987632 IMP: 0 EW:6 4CN5 150 1.0 1 & AQT76 IMP: -1 EW:-3 4SS4 620 20 2
4 K8762 494 4HE-1 50 20 3 ||a J742 T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||w 95 | v KQ86432 6SS-1 100 -120 1
* J82 + KQT4 1NN-2 100 -60 1 ||e K863 ¢ A 5SN-2 200 -120 1
a4 & KT 4HXE4 590 120 1 ||a J92 & 854
®IVeN LT3 ®+veN L KQ653
N 5~~~2 9JT2 N 55~44 ¢AJ7
S 5 ~~~2 4A973 S 55~44 o752
E ~131~ aAQ5 E ~~~~~ aK3
W ~131~ W~~~~~
# 29 » 92 5HN5 -650 Mean: 5HN5 650 30 1 # 30 & T93 4SS4 -420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 -620 540  4HN5 650 30 2 v A97 4SS-150 210  4sS4 420 50 5
¢+ J5 Dif: -30 NS:2 4HN4 620 20 9 + KQ96 Dif: -470 NS:-6 3NN3 400 50 1
» AB65 IMP: -1 EW:-3 2NS4 180 -8.0 1 » K63 IMP: -10 EW:5 3SS4 170 1.0 2
o AT74 N 4 J85 5HN-1 100 120 1 ||a AJ7 » 82 4sS-1 50 60 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 ¢ JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®+veN ,KQ63 ®+veN L, KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
1 2 NS: #7722 PR=EFH0) 6 14 NS: 5 fiREE BRiESN(EAC) -8| VP:| 14.00 : 6.00 Total VP: 183.13 Rank:
EW: &5 S22 (EAC) 8 EW: 5R{Z8B ERHE£(FHO) -6 IMP:| 26 14 2
I - N
# 21 a 87 4SW5 -450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 3SN-2 -100 Mean: 4HW-1 100 50 1
v A864 4SW5 -450 -410  4SW5 450 1.0 11 v K6 3HW3 -140 -70  2SN2 110 50 1
¢ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 » AJB2 Dif: 40 NS:-1 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 & T3 IMP: 1 EW:2 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_ v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®IVeN ,T6 PIVEeN LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 QT 4SW5 -650 Mean: 6SW-1 100 13.0 1 [|# 24 » Q4 3NE3 -400 Mean: 3NW-3 150 80 1
v 976432 6CE6 -1370 -710  4SW5 650 20 7 v 9842 3NW-2 100 -190  5DW-2 100 70 1
¢ J542 Dif: 720 NS:2 3NE5 660 20 1 ¢ 98 Dif: -500 NS:-5 3NW-2 100 70 4
a2 IMP: 12 EW:12 4SW6 680 1.0 2 a J7532 IMP: -11 EW:-7 3NW3 400 50 1
& AK873 a J94 5HXN-3  -800 -3.0 1 [|a J2 & AT75 3NE3 400 50 2
v + v K85 6CE6 1370 -12.0 2 ||v JT53 v KQ7 3NW4 430 60 1
+ Q97 + K6 + AKQT2 ¢ J764 3NE4 430 -60 4
& KQ543 S & AJ976 &8 & K9
®IVEeN o652 ®IVeN A KO863
N ~~~~~ ¢oAQJT N 3~~~~ 9A6
S ~~~~~ 4AT83 S 3~~~~ o653
E 6~~55 aT8 E ~43~2 &AQT6
W 6~~54 W ~32~+~
# 25 » 9872 3NW6 -690 Mean: 6SE-1 100 14.0 4 [|# 26 » 52 3NS-2-200 Mean: 3SW-2 200 7.0 1
v J7 3NE6 -690 -830 4SE6 680 40 1 v AKQ9 3CS-1-100 -70  1NS2 120 50 1
+ KT64 Dif: 0 NS:4 3NW6 690 40 1 + K65 Dif: -100 NS:-4 3CS-1 100 -1.0 8
» K73 IMP: 0 EW:-4 3NE6 690 40 1 a J972 IMP: -3 EW:1 2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 -12.0 7 ||s AKQ986 a J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®IVEeN o7 ®PIVEeN L T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 4CN5 150 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 3NS4 630 Mean: 4SXS5 990 10.0 1
v4 4HE-150 120  4CXN5 610 100 1 oT 3NS4 630 540 3NS5 660 3.0 1
¢ 65 Dif: 100 NS:1  5HXE-2 300 50 1 +» QJ974 Dif: 0 NS:3 3NS4 630 3.0 7
» J987632 IMP: 3 EW:2 4CN5 150 1.0 1 & AQT76 IMP: 0 EW:-3 4SS4 620 20 2
# K8762 94 4HE-1 50 2.0 3 ||e J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||v 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 100 -6.0 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 -12.0 1 ||& J92 & 854
®PIVEeN LJT3 ®+veN L KQ653
N 5~~~2 ¢JT2 N 55~44 ¢AJ7
S 5~~~2 ¢A973 S 55~44 4 T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 620 Mean: 5HN5 650 30 1 # 30 & T93 4SS4 420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 620 540  4HN5 650 30 2 v A97 4SS-1-50 210 4Ss4 420 50 5
¢ J5 Dif: 0 NS:2 4HN4 620 20 9 +» KQ96 Dif: 470 NS:5 3NN3 400 50 1
» A865 IMP: 0 EW:-2 2NS4 180 8.0 1 » K63 IMP: 10 EW:6 3SS4 170 1.0 2
s AT74 N # J85 5HN-1 100 120 1 ||a AJ7 » 82 48S-1 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®IveN LKQ63 ®+VveN L KQ654
N ~~4~4 ¢543 N ~~~42 ¢ KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~~ W ~~~~~




JES S < 2
15 142 E <3 2 AKBERE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
1 3 NS: ZA558 BRHEUEAC) -6 1 NS: EX#8 iEH G (BO) -1 VP:| 12.83 : 7.17 Total VP: 214.45 Rank:
EW: 5355 SHEHEEI0) 15 EW: $B{- 3 HEIR(BIC) 6 IMP:| 19 11 1
_ __ -
# 21 » 87 4SW5 450 Mean: 6SW-1 50 100 1 [|# 22 & KT942 3SN-2 100 Mean: 4HW-1 100 50 1
v A864 4SW5 450 -410  4SW5 450 1.0 M v K6 2SN-150 -70  2SN2 10 50 1
¢ QT764 Dif: 0 NS:1 4SE5 450 1.0 1 + AJ82 Dif: 50 NS:1 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: 2 EW:1 2SN-1 50 1.0 2
» KQ952 » AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 —_— v AT8 3SN-3 450 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 2HW3 140 20 2
®¢VON ,T6 VSN LAT3 2HW4 470 30 1
N ~1~~~ ¢953 N ~1~1~ vJ52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 QT 4SW6 680 Mean: 6SW-1 100 130 1 ||# 24 » Q4 3NE4 430 Mean: 3NW-3 150 80 1
v 976432 4SW6 680 -710  4SW5 650 2.0 7 v 9842 3NW-3 -150 -190 5DW-2 00 70 1
¢ J542 Dif: 0 NS:1 3NE5 660 2.0 1 ¢ 98 Dif: 580 NS:8 3NW-2 100 70 4
a2 IMP: 0 EW:-1 4SW6 680 1.0 2 » J7532 IMP: 11 EW:6 3NW3 400 50 1
» AK873 » J94 5HXN-3  -800 -3.0 1 ||aJ2 a AT75 3NE3 400 50 2
v + v K85 6CE6 4370 120 2 ||e JT53 v KQ7 3NW4 430 60 1
* Q97 + K6 + AKQT2 * J764 3NE4 430  -6.0 4
& KQ543 S & AJ976 & 8 & K9
®P¢VEeN ,652 P¢VESN , K863
N ~~~~~ o AQJT N 3~~~~ ¢ A6
S ~~~~~ 4AT83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 1430 Mean: 6SE-1 100 140 4 ||# 26 » 52 3CS-1100 Mean: 3SW-2 200 7.0 1
v J7 6SE6 1430 -830  4SE6 680 40 1 v AKQ9 2SW2110 -70  1INS2 120 50 1
+ KT64 Dif: 0 NS:-12 3NW6 690 40 1 + K65 Dif: -10 NS:-1  3CS-1 100 -1.0 8
» K73 IMP: 0 EW:12 3NE6 690 40 1 a J972 IMP: 0 EW:1 2SW2 110 1.0 3
46 4 AKQJT53 6SE6 1430 120 7 ||s AKQ986 s J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 ¢ QT84 ¢ 932
& QJT9 & A8 & K & QT83
®IVEON o4 ®IVeN L, T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJ7
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 5HXE-2 -300 Mean: 5CXN5 550 10.0 3 ||# 28 a A9 3NS4 -630 Mean: 4SXS5 990 10.0 1
vd 3HE3140 120 4CXN5 610 100 1 T 3NS4-630 540 3NS5 660 3.0 1
¢ 65 Dif: -440 NS:-6 S5HXE-2 300 50 1 + QJ974 Dif: 0 NS:3 3NS4 630 3.0 7
» J987632 IMP: -10 EW:-5 4CN5 150 1.0 1 » AQT76 IMP: 0 EW:-3 4SS4 620 20 2
» K8762 494 4HE-1 50 20 3 ||a J742 T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 ||w 95 | v KQ86432 6SS-1 100 -120 1
* J82 + KQT4 1NN-2 100 60 1 ||e K863 ¢ A 5SN-2 200 -120 1
a4 & KT 4HXE4 590 120 1 ||a J92 & 854
®IVeN LT3 ®+veN L, KQ653
N 5~~~2 9JT2 N 55~44 ¢AJ7
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN5 -650 Mean: 5HNS 650 30 1 # 30 & T93 4SS-1 50 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 -620 540  4HN5 650 30 2 v A97 3SS4 170 210  4Ss4 420 50 5
¢+ J5 Dif: -30 NS:2 4HN4 620 20 9 + KQ96 Dif: 220 Ns:-1  3NN3 400 50 1
» AB65 IMP: -1 EW:-3 2NS4 180 -8.0 1 » K63 IMP: 6 EW:6 3SS4 170 1.0 2
4 AT74 N » J85 5HN-1 100 120 1 ||a AJ7 s 82 488-1 50 -6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 -50 6.0 1
+ Q984 + ¢ T32 ¢ JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®*+veN LKQ63 ®+veN L, KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W ~~~~~ W ~~~~~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
1 4 NS: #BIRE BREEEIEAC) -8 1 2 NS: #Z % MERE(FO) 6 VP:| 6.00 14.00 | Total VP: 166.90 Rank:
EW: ZEfEHH Bt EH0) -6 EW: $55 IS (BIC) 8 IMP:| 14 26 5
_ __ -
# 21 » 87 4SW5 450 Mean: 6SW-1 50 100 1 [|# 22 & KT942 3SN-2 100 Mean: 4HW-1 100 50 1
v A864 4ASW5 450 -410  4SW5 450 1.0 11 v K6 3HW3 140 70  2SN2 10 50 1
+ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: -40 NS:-2 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 2.0 1 s T3 IMP: -1 EW:1  2SN-1 50 1.0 2
4 KQ952 s AJ43 Q6 4 J85 3SN-2 100 1.0 2
v K7 v QT2 v Q9743 — v AT8 3SN-3 450 20 1
*J | .82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 » A42 » KJ985 2HW3 140 20 2
*¢VeN ,T6 ®IVEON LAT3 2HW4 470 30 1
N ~1~~~ 9953 N ~1~1~ «J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 aQ54 E 3~3~1 aQ76
W 5~~51 W3~3~2
# 23 » QT 4SW5 650 Mean: 6SW-1 100 130 1 ||# 24 » Q4 3NE3 400 Mean: 3NW-3 150 80 1
v 976432 6CE6 1370 -710 4SW5 -650 2.0 7 v 9842 3NW-2 -100 -190 5DW-2 100 7.0 1
+ J542 Dif: -720 NS:-12 3NE5 660 20 1 * 98 Dif: 500 NS:7 3NW-2 100 70 4
a2 IMP: -12 EW:-2 4SW6 680 1.0 2 » J7532 IMP: 11 EW:5 3NW3 400 50 1
» AK873 s J94 5HXN-3  -800 -3.0 1 ||a J2 4 AT75 3NE3 400 50 2
v + v K85 6CE6 4370 120 2 ||w JT53 v KQ7 3NW4 430 60 1
+ Q97 * K6 + AKQT2 ¢ J764 3NE4 430 60 4
+» KQ543 S & AJI76 8 & K9
®P¢VEeN ,652 P¢VESN , K863
N ~~~~~ ¢ AQJT N 3~~~~ 9A6
S ~~~~~ ¢ATS83 S 3~~~~ 453
E 6~~55 4T8 E ~43~2 aAQT6
We6~~54 W~32~-~
# 25 4 9872 3NW6 690 Mean: 6SE-1 100 140 4 ||# 26 » 52 3NS-2200 Mean: 3SW-2 200 7.0 1
v J7 3NE6 690 -830 4SE6 680 40 1 v AKQ9 3CS-1100 -70  1NS2 120 50 1
+ KT64 Dif: 0 NS:4 3NW6 690 40 1 + K65 Dif: 100 NS:1 3CS-1 100 1.0 8
& K73 IMP: 0 EW:-4 3NE6 690 40 1 a J972 IMP: 3 EW:4 2SwW2 410 1.0 3
46 & AKQJT53 6SE6 1430 -120 7 ||a AKQ986 s J4 3NS-2 200 40 1
v AT986 v Q4 v 76 + v 8543
* AJ3 ¢ Q5 + QT84 ¢ 932
» QJT9 & A8 s K + QT83
®sveN o2 ®IveN LT73
N ~~~~~ ¢K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJ7
E 4~566 46542 E ~1~1~ aA654
W 5~666 W-~1~1-~
#27 & AQ5 4CN5 -150 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 3NS4 -630 Mean: 4SXS5 990 10.0 1
vid 4HE-1-50 120  4CXN5 610 100 1 T 3NS4 -630 540 3NS5 660 3.0 1
¢ 65 Dif: 100 NS:-2 5HXE2 300 50 1 + QJ974 Dif: 0 NsS:3 3Ns4 630 3.0 7
& J987632 IMP: -3 EW:-1 4CN5 150 1.0 1 & AQT76 IMP: 0 EW:-3 4SS4 620 20 2
» K8762 494 4HE-1 50 20 3 ||a J742 T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 6.0 3 ||w 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 100 6.0 1 ||e K863 ¢ A 5SN-2 200 -12.0 1
a4 & KT 4HXE4 590 -12.0 1 ||a& J92 & 854
®sveN LJT3 ®+veN ,KQ653
N 5~~~2 ¢JT2 N 55~44 ¢AJ7
S 5~~~2 4A973 S 55~44 4752
E ~131~ aAQ5 E ~~~~~ akK3
W~131~ W~~~~-~
# 29 » 92 4HN4 -620 Mean: 5HNS5 650 30 1 # 30 & T93 4SS4 -420 Mean: 4SS5 450 6.0 1
v AQJ97 4HN4 -620 540  4HN5 650 3.0 2 v A97 4SS-150 210  4SS4 420 50 5
+J5 Dif: 0 NS:2 4HN4 620 20 9 + KQ96 Dif: -470 NS:-6 3NN3 400 50 1
& A865 IMP: 0 EW:-2 2NS4 180 80 1 » K63 IMP: -10 EW:-5 3SS4 170 1.0 2
s AT74 N 4 J85 5HN-1 4100 <120 1 [|a AJ7 s 82 4551 50 60 4
v KT2 v 86 v Q642 v T53 3NS-1 50 60 1
+ Q984 + ¢ T32 ¢ JT « A8732
*T7 *» QJ942 + QT97 & J52
®+veN LKQe3 ®+veN , KQ654
N ~~4~4 ¢543 N ~~~42 vKJs
S ~~4~4 ¢AK76 S ~~~42 454
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~-~ W~~~~-~




